Section 1: Ensuring that Your Answers are "In the Ballpark"

Practice Exercise 1
	Review the following problem and develop an estimate.

If you add 2,356 + 121 + 78,257 + 17 + 21,989 + 9,742, the answer should be what?

To answer this question, select the appropriate button. Click Check Answer to see if you are correct.
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	A. Greater than 21,989 

	[image: image2.wmf]


	    
	B. Greater than 78,257 

	[image: image3.wmf]


	    
	C. Less than 100,000 

	[image: image4.wmf]


	    
	D. Greater than 115,000 


Practice Exercise 2
	Top of Form

Review the following problem and develop an estimate.

If you take 34% (.34) of (times) 12,765, the answer should be what?

To answer this question, select the appropriate button. Click Check Answer to see if you are correct.
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A. Less than 12,000 
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B. More than 12,000 
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C. More than 36,000 
[image: image8.wmf]


    

D. Less than 3,000 
Bottom of Form


Practice Exercise 3
	Top of Form

Review the following problem and develop an estimate.

If you divide 24 by ¾, the answer should be what? 

To answer this question, select the appropriate button. Click Check Answer to see if you are correct.
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A. Less than 24 
[image: image10.wmf]


    

B. More than 24 
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C. Less than 20 
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D. More than 15 
Bottom of Form


Section 2: Mathematical Symbols and Their Meanings

Practice Exercise 1
	Top of Form

How should the equation x [image: image13.png]


y be restated when presented as an English phrase?

To answer this question, select the appropriate button. Click Check Answer to see if you are correct.
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A. The value of x is greater than the value of y. 
[image: image15.wmf]


    

B. The value of y is greater than the value of x. 
[image: image16.wmf]


    

C. The value of x can be greater than or equal to the value of y. 
[image: image17.wmf]


    

D. The value of y can be greater than or equal to the value of x. 
Bottom of Form


Practice Exercise 2
	Top of Form

What is the answer to the problem 10 · 13?

To answer this question, select the appropriate button. Click Check Answer to see if you are correct.
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A. 23 
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B. 130 
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C. 1.3 
[image: image21.wmf]


    

D. 3 
Bottom of Form


Practice Exercise 3
	Top of Form

Calculate 4!, then determine the correct answer.

To answer this question, select the appropriate button. Click Check Answer to see if you are correct.
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A. 16 
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B. 2 
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C. 256 
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D. 24 
Bottom of Form


Section 3: Rules for Rounding

Practice Exercise 1
	Top of Form

Round 53.55 to the nearest whole number, then choose the correct answer.

To answer this question, select the appropriate button. Click Check Answer to see if you are correct.
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A. 53 
[image: image27.wmf]


    

B. 54 
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C. 53.6 
[image: image29.wmf]


    

D. 53.4 
Bottom of Form


Practice Exercise 2
	Top of Form

Round 53.55 to the nearest whole tenth (one decimal place), then choose the correct answer.

To answer this question, select the appropriate button. Click Check Answer to see if you are correct.
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A. 54 
[image: image31.wmf]


    

B. 52 
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C. 53.6 
[image: image33.wmf]


    

D. 53.4 
Bottom of Form


Practice Exercise 3
	Top of Form

Round 53.446 to the nearest whole number, then choose the correct answer.

To answer this question, select the appropriate button. Click Check Answer to see if you are correct.
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A. 54 
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B. 53.45 
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C. 53.5 
[image: image37.wmf]


    

D. 53 
Bottom of Form


Practice Exercise 4
	Top of Form

Round 654.9 to the nearest ten, then choose the correct answer.

To answer this question, select the appropriate button. Click Check Answer to see if you are correct.
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A. 650 
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B. 665 
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C. 654.10 
[image: image41.wmf]


    

D. 660 
Bottom of Form


Practice Exercise 5
	Top of Form

Round 654.9 to the nearest hundred, then choose the correct answer.

To answer this question, select the appropriate button. Click Check Answer to see if you are correct.
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A. 750 
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B. 600 
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C. 700 
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D. 755 
Bottom of Form


Practice Exercise 6
	Top of Form

Round 44,757.0088 to the nearest thousand, then choose the correct answer.

To answer this question, select the appropriate button. Click Check Answer to see if you are correct.
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A. 44,800 
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B. 45,000 
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C. 44,757.009 
[image: image49.wmf]


    

D. 44,000 
Bottom of Form


Practice Exercise 7
	Top of Form

Round 44,757.0088 to the nearest thousandth (third decimal place), then choose the correct answer.

To answer this question, select the appropriate button. Click Check Answer to see if you are correct.
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A. 44,800 
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B. 45,000 
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C. 44,757.009 
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D. 44,000 
Bottom of Form


Section 4: Keeping Track of Decimal Places
Practice Exercise 1
	Top of Form

Subtract 2.6678 from 56.57, then choose the correct answer.

To answer this question, select the appropriate button. Click Check Answer to see if you are correct.
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A. 53 
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B. 21.021 
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C. 53.9022 
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D. 59.2378 
Bottom of Form


Practice Exercise 2
	Top of Form

Multiply 2.667 times 56.57, then choose the correct answer.

To answer this question, select the appropriate button. Click Check Answer to see if you are correct.
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A. 150.87219 
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B. 171 
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C. 15087219 
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D. 151 
Bottom of Form


Practice Exercise 3
	Top of Form

Divide 56.4186 by .266, then choose the correct answer.

To answer this question, select the appropriate button. Click Check Answer to see if you are correct.
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A. .2121 
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B. 2121 
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C. 212.1 
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D. 212100 
Bottom of Form


Section 5: Converting Fractions, Decimals, and Percents
Practice Exercise 1
	Top of Form

Convert
[image: image66.png]



to a decimal, round your answer to two decimal places, then choose the correct answer.
To answer this question, select the appropriate button. Click Check Answer to see if you are correct.
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A. 891 
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B. .11 
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C. 8.91 
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D. 11 
Bottom of Form


Practice Exercise 2
	Top of Form

Convert 7.15 to a fraction, reduce the answer to its lowest terms, then choose the correct answer. 

To answer this question, select the appropriate button. Click Check Answer to see if you are correct.
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A. 7 3/20 
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B. 7 3/2 
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C. 7 15/100 
[image: image74.wmf]


    

D. 7/15 
Bottom of Form


Practice Exercise 3
	Top of Form

Convert .715 to a percent, then choose the correct answer. 

To answer this question, select the appropriate button. Click Check Answer to see if you are correct.
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A. 7.15% 
[image: image76.wmf]


    

B. 715.0% 
[image: image77.wmf]


    

C. .00715% 
[image: image78.wmf]


    

D. 71.5% 
Bottom of Form


Practice Exercise 4
	Top of Form

Convert 2.36% to a decimal, then choose the correct answer. 

To answer this question, select the appropriate button. Click Check Answer to see if you are correct.
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A. .236 
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B. 236 
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C. .0236 
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D. 23.6 
Bottom of Form


Section 6: Working with Ratios
Practice Exercise 1
	Top of Form

Express
[image: image83.png]



as a ratio, then choose the correct answer. 
To answer this question, select the appropriate button. Click Check Answer to see if you are correct.
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A. 1:7 
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B. 1:49 
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C. 1/7 
[image: image87.wmf]


    

D. 7:1 
Bottom of Form


Practice Exercise 2
	Top of Form

What is the ratio of issues to receipts if there were 64 issues and 96 receipts? 

To answer this question, select the appropriate button. Click Check Answer to see if you are correct.
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A. 2:96 
[image: image89.wmf]


    

B. 3:2 
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C. 2:3 
[image: image91.wmf]


    

D. 3:32 
Bottom of Form


Practice Exercise 3
	Top of Form

A Supply Center issued a buy to demand standard of 3:4. If an Item Manager has 480 demands, what should his buy quantity be? 

To answer this question, select the appropriate button. Click Check Answer to see if you are correct.
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A. 360 
[image: image93.wmf]


    

B. 640 
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C. 40 
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D. 120 
Bottom of Form


Section 7: Calculating Averages
Practice Exercise 1
	Top of Form

Calculate the average of the following set of numbers, and round your answer to the nearest tenth: 121.7, 77.6, 19.3, 36, 106.5.

To answer this question, select the appropriate button. Click Check Answer to see if you are correct.
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A. 657.4 
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B. 1805.5 
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C. 361.1 
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D. 72.2 
Bottom of Form


Practice Exercise 2
	Top of Form

Calculate the annual average for the data in this table.
 
1st Quarter
2nd Quarter
3rd Quarter
4th Quarter 
Total for 4 Quarters
Total
716
1,079
891
918
 
Frequency
96
118
88
84
 
Item Manager's Calculation
Averages
7.46
9.14
10.13
10.93
 

To answer this question, select the appropriate button. Click Check Answer to see if you are correct.
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A. 901 
[image: image101.wmf]


    

B. 9.34 
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C. 37.66 
[image: image103.wmf]


    

D. 9 
Bottom of Form


Section 8: Percent Increases and Decreases
Practice Exercise 1
	Top of Form

What is the result when an organization's 372 member staff is increased by 15%? 

To answer this question, select the appropriate button. Click Check Answer to see if you are correct.
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A. 383.1 
[image: image105.wmf]


    

B. 427.8 
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C. 316.2 
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D. 323.4 
Bottom of Form


Practice Exercise 2
	Top of Form

What is the result when an organization's 372 member staff is decreased by 15%? 

To answer this question, select the appropriate button. Click Check Answer to see if you are correct.
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A. 316.2 
[image: image109.wmf]


    

B. -186 
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C. 427.8 
[image: image111.wmf]


    

D. 366.4 
Bottom of Form


Practice Exercise 3
	Top of Form

What is the percent change when an organization's staff has changed from 70 members to 105 members? 

To answer this question, select the appropriate button. Click Check Answer to see if you are correct.
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A. 75% increase 
[image: image113.wmf]


    

B. 50% increase 
[image: image114.wmf]


    

C. 50% decrease 
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D. 75% decrease 
Bottom of Form


Practice Exercise 4
	Top of Form

What is the percent change when an organization's staff has changed from 150 members to 120 members? 

To answer this question, select the appropriate button. Click Check Answer to see if you are correct.
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A. 30% increase 
[image: image117.wmf]


    

B. 30% decrease 
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C. 20% increase 
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D. 20% decrease 
Bottom of Form


Practice Exercise 5
	Top of Form

The probability of precipitation for today was changed from 40% this morning to 20% this afternoon. By how many percentage points has the probability changed? 

To answer this question, select the appropriate button. Click Check Answer to see if you are correct.
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A. Decrease of 50 percentage points 
[image: image121.wmf]


    

B. Increase of 20 percentage points 
[image: image122.wmf]


    

C. Decrease of 20 percentage points 
[image: image123.wmf]


    

D. Decrease of 100 percentage points 
Bottom of Form


Section 9: Adding, Subtracting, Multiplying, and Dividing Numbers with Signs
Practice Exercise 1
	Top of Form

Add the following set of numbers with signs, then choose the correct answer.

-34, +18, +92, +100, -53, -32, and -2 

To answer this question, select the appropriate button. Click Check Answer to see if you are correct.
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A. 90 
[image: image125.wmf]


    

B. 121 
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C. -89 
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D. +89 
Bottom of Form


Practice Exercise 2
	Top of Form

Subtract -181 from -201, then choose the correct answer.

To answer this question, select the appropriate button. Click Check Answer to see if you are correct.
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A. 20 
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B. -382 
[image: image130.wmf]


    

C. -20 
[image: image131.wmf]


    

D. 382 
Bottom of Form


Practice Exercise 3
	Top of Form

Multiply +16 times -16, then choose the correct answer. 

To answer this question, select the appropriate button. Click Check Answer to see if you are correct.
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A. -256 
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B. 256 
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C. 32 
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D. -32 
Bottom of Form


Practice Exercise 4
	Top of Form

Divide -420 by -42, then choose the correct answer.

To answer this question, select the appropriate button. Click Check Answer to see if you are correct.
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A. -378 
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B. -10 
[image: image138.wmf]


    

C. +10 
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D. 17,640 
Bottom of Form


Section 10: Working with Exponents
Practice Exercise 1
	Top of Form

Calculate [image: image140.png]


, then choose the correct answer. 

To answer this question, select the appropriate button. Click Check Answer to see if you are correct.
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A. 32 
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B. 10 
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C. 2/5 
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D. 25 
Bottom of Form


Practice Exercise 2
	Top of Form

Calculate [image: image145.png]


when x = 8, then choose the correct answer. 

To answer this question, select the appropriate button. Click Check Answer to see if you are correct.
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A. 24 
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B. 3/8 
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C. 512 
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D. 6,561 
Bottom of Form


Practice Exercise 3
	Top of Form

Calculate [image: image150.png]


then choose the correct answer. 

To answer this question, select the appropriate button. Click Check Answer to see if you are correct.
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A. -64 
[image: image152.wmf]


    

B. -12 
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C. 12 
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D. [image: image155.png]



Bottom of Form


Practice Exercise 4
	Top of Form

Calculate
[image: image156.png]



then choose the correct answer.
To answer this question, select the appropriate button. Click Check Answer to see if you are correct.
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A. 9 
[image: image158.wmf]


    

B. 1/9 
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C. -9 
[image: image160.wmf]


    

D. -6 
Bottom of Form


Section 11: Order of Operations
Practice Exercise 1
	Top of Form

Simplify the following equation, then choose the correct answer.
75 - 2 [image: image161.png](32-4)2



- 25 ÷ 5
To answer this question, select the appropriate button. Click Check Answer to see if you are correct.
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A. 20 
[image: image163.wmf]


    

B. 360 
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C. 47 
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D. 53 
Bottom of Form


Practice Exercise 2
	Top of Form

Simplify the following equation, then choose the correct answer.
240 ÷ 6 · 2 [image: image166.png](35-52)



- 4 ÷ 2
To answer this question, select the appropriate button. Click Check Answer to see if you are correct.
[image: image167.wmf]


  

A. 398 
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B. 0 
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C. 998 
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D. 798 
Bottom of Form


Section 12: Solving Formulas
Practice Exercise 1
	Top of Form

Evaluate the formula
[image: image171.png]



when c = 2 and d = 4. After you solve for a, choose the correct answer.
To answer this question, select the appropriate button. Click Check Answer to see if you are correct.
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A. a = 9 
[image: image173.wmf]


    

B. a = 17 
[image: image174.wmf]


    

C. a = 6 
[image: image175.wmf]


    

D. a = 16 
Bottom of Form


Practice Exercise 2
	Top of Form

Given the formula V = L · W · H and given that V = 105, L = 3, and W = 7, find H. After you have solved for H, choose the correct answer.
To answer this question, select the appropriate button. Click Check Answer to see if you are correct.
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A. H = 105 
[image: image177.wmf]


    

B. H = 84 
[image: image178.wmf]


    

C. H = 21 
[image: image179.wmf]


    

D. H = 5 
Bottom of Form


Practice Exercise 3
	Top of Form

Given the formula P = 2L + 2W and given that P = 10 and L = 2, find W. After you solve for W, choose the correct answer.
To answer this question, select the appropriate button. Click Check Answer to see if you are correct.
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A. W = -9 
[image: image181.wmf]


    

B. W = 8 
[image: image182.wmf]


    

C. W = 1 
[image: image183.wmf]


    

D. W = 3 
Bottom of Form


Section 13: Keeping Track of Units of Measure
Practice Exercise 1
	Top of Form

Which of these choices correctly expresses the gas mileage measurement of 28 mpg?

To answer this question, select the appropriate button. Click Check Answer to see if you are correct.
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A.
[image: image185.png]2gmiles
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B. 
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C. 
28 = miles per gallon
[image: image189.wmf]


    

D.
[image: image190.png]niles.
e





Bottom of Form


Practice Exercise 2
	Top of Form

If a car has a gas mileage of 35 mpg, how far can the car go on a full tank of 20 gallons?

To answer this question, select the appropriate button. Click Check Answer to see if you are correct.
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A. 55 miles 
[image: image192.wmf]


    

B. 700 hours
[image: image193.wmf]


    

C. 700 miles 
[image: image194.wmf]


    

D. 55 gallons 
Bottom of Form


Practice Exercise 3
	Top of Form

Convert 72 inches to yards, then choose the correct answer.

To answer this question, select the appropriate button. Click Check Answer to see if you are correct.
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A. 3 yards 
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B. 4 yards
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C. 6 yards 
[image: image198.wmf]


    

D. 2 yards 
Bottom of Form


Section 14: Adding and Subtracting "Apples and Oranges"
Practice Exercise 1
	Top of Form

Three different offices reported their inventories of duct tape as 180 inches, 20 yards, and 150 feet, respectively. Expressing the measurement in yards, what is the total inventory of tape for the three offices?

To answer this question, select the appropriate button. Click Check Answer to see if you are correct.
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A. 50 yards 
[image: image200.wmf]


    

B. 75 yards 
[image: image201.wmf]


    

C. 60 yards 
[image: image202.wmf]


    

D. 70 yards 
Bottom of Form


Practice Exercise 2
	Top of Form

An office has 4 desks, 6 chairs, 3 bookcases, and 5 filing cabinets to be moved. Find a single quantity to describe the contents of this office that must be moved.

To answer this question, select the appropriate button. Click Check Answer to see if you are correct.
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A. 18 pieces of furniture 
[image: image204.wmf]


    

B. 10 items with legs and 8 items with bases 
[image: image205.wmf]


    

C. 18 
[image: image206.wmf]


    

D. 18 quantities 
Bottom of Form


Section 15: Some Key Statistical Terms and Their Meanings
Practice Exercise 1
	Top of Form

Using the following set of data representing the ages of the staff in a particular office, find the range of ages in the office.

Data set: 53, 50, 45, 45, 40, 37, 37, 37, 25 

To answer this question, select the appropriate button. Click Check Answer to see if you are correct.
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A. 37 to 40 
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B. 50 to 53 
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C. 40 
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D. 25 to 53 
Bottom of Form


Practice Exercise 2
	Top of Form

Using the following set of data representing the ages of the staff in a particular office, find the mean age in the office.

Data set: 53, 50, 45, 45, 40, 37, 37, 37, 25 

To answer this question, select the appropriate button. Click Check Answer to see if you are correct.
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A. 41 
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B. 25 
[image: image213.wmf]


    

C. 37 
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D. 53 
Bottom of Form


Practice Exercise 3
	Top of Form

Using the following set of data representing the ages of the staff in a particular office, find the median age in the office.

Data set: 53, 50, 45, 45, 40, 37, 37, 37, 25 

To answer this question, select the appropriate button. Click Check Answer to see if you are correct.
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A. 40 
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B. 41 
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C. 53 
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D. 25 
Bottom of Form


Practice Exercise 4
	Top of Form

Using the following set of data representing the ages of the staff in a particular office, find the mode of the ages in the office.

Data set: 53, 50, 45, 45, 40, 37, 37, 37, 25 

To answer this question, select the appropriate button. Click Check Answer to see if you are correct.
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A. 40 
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B. 45 
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C. 37 
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D. 41 
Bottom of Form


Practice Exercise 5
	Top of Form

If an office had a median age of 45 and a standard deviation of 12, between what ages would you expect to find two-thirds of the employees? 

To answer this question, select the appropriate button. Click Check Answer to see if you are correct.

[image: image223.wmf]


  

A. Between 15 and 75 
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B. Between 33 and 57 
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C. Between 30 and 60 
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D. Between 27 and 67 
Bottom of Form


Practice Exercise 6
	Top of Form

Using the following set of data representing the waist sizes of the people in a particular office, find the median waist size in this office.

Data set: 46, 42, 42, 40, 38, 38, 38, 36, 34, 34, 34, 32, 30, 30 

To answer this question, select the appropriate button. Click Check Answer to see if you are correct.
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A. 36 
[image: image228.wmf]


    

B. 38 
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C. 40 
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D. 37 
Bottom of Form
	 


Practice Exercise 7
	Top of Form

Using the following set of data representing the waist sizes of the people in a particular office, find the mode of the waist sizes in this office.

Data set: 46, 42, 42, 40, 38, 38, 38, 36, 34, 34, 34, 32, 30, 30 

To answer this question, select the appropriate button. Click Check Answer to see if you are correct.
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A. 34 and 38 
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B. 34 
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C. 38 
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D. 36 
Bottom of Form


Section 16: How to Convert English Phrases Into Mathematical Statements

Practice Exercise 1
	Top of Form

Restate the following relationship as a mathematical statement, then choose the correct answer:

Juanita's age is 3 years less than Patrick's age. 

(Let j = John's age and p = Patrick's age.)

To answer this question, select the appropriate button. Click Check Answer to see if you are correct.

[image: image235.wmf]


  

A. j = p - 3 
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B. 3 = j - p 
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C. p = j - 3 
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D. j = 3 - p 
Bottom of Form


Practice Exercise 2
	Top of Form

Restate the following relationship as a mathematical statement, then choose the correct answer:

Office A processed four times as many applications as office B. 

(Let a = the number of applications processed by office A, and b = the number of applications processed by office B.)

To answer this question, select the appropriate button. Click Check Answer to see if you are correct.

[image: image239.wmf]


  

A. a = 4 + b 
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B. b = 4 x a 
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C. a = 4 x b 
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D. b = 4 + a 
Bottom of Form


Practice Exercise 3
	Top of Form

Restate the following relationship as a mathematical statement, then choose the correct answer:

The sum of the number of employees in branches A, B, and C is 3 less than twice the number of employees in branch D.

To answer this question, select the appropriate button. Click Check Answer to see if you are correct.
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A. d - 3 = a + b + c 
[image: image244.wmf]


    

B. a + b + c = 2d - 3 
[image: image245.wmf]


    

C. (a + b + c)2 - 3 = d 
[image: image246.wmf]


    

D. a + b + c = 3d - 2 
Bottom of Form
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